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Q.No: 1 YRR FRA T Sga-W i pra g @i

I Tl ST 3T Tl §
A
. Eihiice RHE G

Tl I SR Y uitsar o1 S ST 7, TTafanl B € § W 71
(o]

D Tg At GURA T §
Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 2 &= YTy i ot &l & W1y a1 8 § | gera: Tt faaw 8-
A .. a@T

B $am ufaaig
C Hisim SRt
D Eigiiuic]

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 3 rew, foamn, uR==f, are-farg 3anfe s=if &t .......... q @I, ...
A wawd, Ak, fifdd

B W, T, Spas

C T, F59, TEt

D TF, YU, TPty

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 4 THfiNp TR W 39 5y TG &1 I9-Wied IFd I T2
A Faa Feiar

B T wifew it WS WiReRI g1 foran T &

c Tar wifee Rl St 9iR TeIal o1 Gevg &

D Faq iyan

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 5 1 /I U & aR & 1 W H 3 22
A TSI TSRV BT STAR Tt Tl B

B TS O e e T8 1

o ot gufa: feifea St 21

D TS & Faves e 3|

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 6 =1 & § <t Rigor & Iualsy &1 s @Y Sl gl

n ~

gl
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A AT T
B Juarsy oo &
c Aerw vl &

D TR T &

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 7 5 Rigieh GRT 814 & YEdw A aTeH S Wil &, oA 99 T & | $H-11 9199 $gd 82
A et e

B A e
c Ted areq
D Feqfd areH

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 8 famfiaa F & v et Wem B2
A YraifyeET o1

B A 31
C HETH BT
D AG &7

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 9 @&l ¥ 3y Teb TNl fRIgfs & FU F {6y a1d W 4 Hgd 2
A UISI-UP & YD IS Bl HeR-HifT TwsmeT

B T BT IS TART & SHE F SHF SEwR

C WY g Il TR

D Tl BT G g

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 10 7T fRigfor Ft srgare fafd

A TIGHTST 1 HERY S §
B TRJHTST ! ARy Te1 It ©
o TITHIST Bt T e §
D g uT B & AF R w7

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 11 &= (wrwn) v & =@ A g Aa &1 oy Tdy §

A TERY &t Ygal A

B S FERY T

C BRI | 3 o §
D e feramge &

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 12 Fuffad & I o 3R o Rl o1 aftifee wu &

A wHa fafy
B = fafy
C et Ry
D Tareary Ay

Correct Ans : D
Subject : Hindi Bhasha 01
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Q.No: 13 Hfyar Rraor 7 7Ry TomeR &1 WA 5 TR W S o Suarh g 22

A T T ®R
B RIS H&T TR
C TR AANS FET TR
D HANE BT TR

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 14 U6 UgH-YgH & 9IG {9 TRe & IaId godi D! GAS Pl Hedidb H H JglP gl ala?

A Y, I Y

B o e fieht 1 9t

c Tg T U1S q Sigd gU 31U ol SrgHal &1 e e aral U
D ‘gfg-ar ar uy

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
&= R foU MU TR B ugaR I T URAl & 9EY Siud Sk ald faded & 9o $ifere-

TS S S g G §; N6 SUDT Uil (Jg) M0 T 1Y F WY 95 U 1 ¥ 71 T8 R H o 3 <o o St 1 9% T 9 F M F TARR SO+ IS Adat H R g
Sl 81 gt 3T 9 B AR HileR eI F ) I 8 S S0 9 IARGR 1 S0 TG BT 11 8| B D PRUI IS Ged IS Wd § ol Faal I RT3 IoKi 8 W A a9 arq
JUHT 9T a3 38T 7

i gR 9 OISt & damsli Bt e o1 SR G ST & IR F WA FHT1 ST URTA &I e XA B SR URT SR g &1 THRR &1 e § e foran| a=ar s wR & SRy
F-T1 §) TN I T S F HET—3Y IR 9 B o9 & T | S ft 1 F 79T § a9 99 S9 o I Roen Afviw) s Y 9 TRaTd W e favar T gl 3 srafie ueeran § 9
TSl I T % ofd SUST 70 Ta ol g | Gt ARl 1 I8 WaR A1 & T3 | S I Aok IaRT 751 SATAT oAl H &6 & JIaug 30 3¢ 31 a1g U | 9g & 1y 391 au
e o §9 fo a1g 9 oo ®f & R S | 9 A T o g 3 9k T & a5 A o 7 P St 99 o 7 didd-diad TR oS {98 B oW asaT & gof 71 S 31 URE
ot gR & T I @ 5 o §g I e S0 BT 71 THRR F A G ST ¥ I &R A1 M BT aral of fordr| g A IARaR o 7 S, W 7 o | 98 §g B o og ot 9| g
oIt &1 7T A1 9% ST F BTy | B Wdol 3R ISP I S UHSaR TaTl 39 R 1 SadH 1 BT AIYT 39 11 I S Riavrgd oft 31 i e o 33 faems war 81 s A
Rieprad o1 g 7 o g 3 gy oft Sg 31 o O o 7 3 o Io1, Fifd TP AId BT U0 51 34 Jgd W Bl A1l TR T9-T 81 e & & .

Q.No: 15 IR TR F TR GET 1 BT 32 oy Ha 918 77 317 X617

A 20 f&a
B oy o
o %
D & af

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

gz i fou 7T TR B ugeR U C URAl § 9EY Siud SR ald fdwed o 9 Fifere-

G ST TS g G ©; I Tb IAPT Ul (I) ST T §19 & Ty IqS UG 3 31 g1 I8 Wl H ot S < <01 Sielt B1 96 98 9g & 9 & THER ST ggRH Fdat 3 off g
Tt B1 LT 3T 9 T AIR AAISR Feareit H T Sl § I 3T AT IR BT T4 S BT 3T 81 BT F BRI IUF Yo I8 W ¢ al Fdal I AGRT <o Jalal 31 R & af g
IEPT 9T 71d 37 3aT 3

Al R F IS & Josoll B MG o7 SR AR ST F W & WA T P11 AT GRTAT H aRe A B SR HRT SiR A &1 IARGR &1 Me F F9e foran| g s wR & R0
F-T1 €1 111 g 7 3T F FeT—39 IR 9¢ D AT & W | 99 off @ H 76t § a9 99 I o I e w1 s Y 39S TRAd TR e faRary e gal 3 il we—ar 8 9
el I M % 3@ SUHT T4 el & e | it ARl &1 I8 TeR A1 & TS| 1A Bi ToR IART TS| SATA YAl B € & dIaug $U I BT a1G {2t §g & a1 39T a0 of
e o §9 o a1g 95 o o & W S < 4 A T 6 g 3 9k T & a8 Jan o A PR $t 99 o T dda-diaa TR oS i 98 o g 1 asaT & g B o 37 URE
ot gR & TN I @ 1 o I I RE S BT 71 IR F A T SAAT ¥ I T I M BT ara] o v | GER W KR ol 7 M1, W I 347 | I 9g B o o ot 9@ g
O & T ATl 97 o F g1y A & Wikl SR SF QT 3] UHSHR TlaTl 39 FRURY T SAHR AN BT HIYT S 11 I o F Rrepradt oft 31 &5 oo A 33 fams war 31 e A
Riepraa 31 g # Tt fan 3 areex off 3¢ S 3o 1Y Gas 7 A O G, Fifh T Fiel BT U0 § I Igd TR el Y| TR S-S T a1 Y& @1 T4l

Q.No: 16 IuHe TR # ST I fb TRl R fI=are et gam?

A Wd I 7 31 Y HEI—FH IR I DY MY 7T WM 3f: I T/ U W AHR ST 131 BT IS UG W) Wgu1 fazare =gt gam

B T I8 7 ST ¥ HeI—3Y IR I Bl MY §F G| fd: I T U WY T3l A1 o i S URAIT W Hewl =A™ e gel

C G THRR 7 3T HEI—3H IR 9 P 3417 1 @M 31: T 38 307 IRy TR 1 ST Y WP TG W Ge 1 favary 8t gen

D e AR A ST ¥ FEI—39 IR g B 1Y T @M1 37: T TH 30 TR AHR ST 1S P SHb T W gl (AR Ta1 gl

Correct Ans : B

Subject : Hindi Bhasha 01
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Passage:

&= < fou U T B ugaR U@ IC URAl & 9ed Siud SR aid fawed o 9o Fifi-

T ST TS TG T §; I IBT AT (I 3T Tl S19 F Y IWP TR 31 I ¥l 98 Wl A 4t 317 < ot oIt §1 98 98 9 & 9 & TR 0=t USR det o1 oft g
St ©1 T S S BT AP AR Fed el # 1SRN © I S0 S IR BT F99 G B ST B FTH P BRI IS Ged IS I § d Tda1 39 BRI 4R IoKN ol R o a9 916
IBT ST T 37 ET B

T R T OIS F Yomoll B G oS SR TR 3 & TR & T T P11 S UG B ake G $I SR YR SiR A $1 IARR &1 Mg § F9e | g=a1 oafies WR & SR
F- §) TN I T S F HET—39 IR 9 BT A1 &) & | OF off 1 ¥ 7T § a9 qo S0 o ¥ e gl s oY 3% URaTT WR Ao %A g geiT| 3 e e # 3
TSl | I M % 3@ SUHT 0 el g SeT| qeft ARl Y I8 TR A1 < TS| SIS Si AoR IaART TS| SAH YAl B €8 & dIaug SU 9 B a1 R R Sg & a1y 3t a9ud of
e o $9 o a1g 9 o o & W I 9 ¥ T < g Y 3R T @ a5 Jan 3w 7 PR $t 9 & T Saa-diad TR o 5 95 B gw 1 asat € gon 81 o &1 UK
ot qR &1 TR I @ 5 o 9 I TRE S BT g1 THRR F T T SFAT F IIY TR I M BT arel of fordn| GO A AHIER ol 7 S, W 1 3418 | 98 §g Bl <@ ofg ot 9@ g
O & T A1 97 oI F g1y F & WikoT SR SF T 3] UHSHR Tl 39 FRURY T SR AT BT AT S 11 I 3T F Rrepraet oft 351 &5 ooy o 39 famrs war g1 s A
Rierad &1 et & i a1 31 agax ff 9g &1 o9 U 4ag 9 A S Iot, i T UId BT 90 g 39 g W Bl dT| TR G4-8 a1 g 1 & & [

Q.No: 17 Iugad T §, S $HF UTHR 31 B M
A S ITPT T S1G B ST T8 S ) AR Iga gueh § @ ot 1

B e IYHT W WH B SN 98 9 BT AFR HAIGR Heral § @ oedt g1
C IS IDT T THE Rl G U | 95 9 Bl AR g Fifa g i 2l
D e IUHT T T I Y YU B G o) e, S St gars off g w7 et argeh

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:
&= <R fEU 0 TR B ugak U@ T WAl & 9eY SiUd Sk ald [dded B 98 $ifeig-

3 ST TS g G ©; b IADT UKl (I) ST i §19 & A1y I/S UIH 31 331 g1 8 Tl & ff ST <fiu ofT SIrelt 81 96 I8 9 & 3 & IR 0T Ugrd Fdat & ff g
el B1 gt 3T 9 BT AR AleR egielt H ) I 8 S SMU 9 IARER 1 S TG B 1T 8| I B HRUI I Yo IS Od § af Adal I FeRT IR Io[ 81 R A a9 arq
JAHT 9T TG 37 ET 3

i R 4 OISt & dasli B a1 SR T ST F TR F WA FHT1 ST URTAl &I ke Gl B SR HRT SR 9 &1 JHRR &1 g § e | =1 S @R & SR
FH-1 8 T T 7 S F HoT—39 GR 9 I 319 &) T | SN o 1 F 7t § 99 99 S0 oA ¥ feaw <fifoTe) S Y SU% URATd TR T faRa Y gofTl @ e ggar § 3
TSl I M % od SUST TH e ol SeT| Gt ARl 1 I8 TaR A1 <1 T3 | T BT Ao SR T3 | SFAT Yol H &6 & JIaug $UA 3¢ B a1G Ul 2| §g & 1Y ST o0
e s $9 3T a1g 9 ol = & R S A A ¥ T 6 Bre 3 ok T & a5 A e 3 Rt 3 9 o 7 diaa-diad TR o {5 95 3 gu o aget € ga ¥ o 37 URE
R B T I @ o S I e S BT 71 INTR F AR T S N I TR U M BT argel of frr| g O IARR o 7 S, WA o | 98 3¢ B o og ot 9@ g
OIS} &1 7T A1 9 ST & BT ¥ B Wkol 3R 3% gl oA Udhsax Il 39 T B SadHR 1 BT 4141 398 11 39 1 I Rierad oft 31 i e o 339 fooms xan g1 s 3
Riepraa 1 g4 7 ora & o argas oft ST 31 oo O 49 7 A S 91, Fifh U 9Id $T U0 g 39U Jgd W Bl AT TR B4-8 a1 [ & & [

Q.No: 18 Iqfad T=IixT #, a1 S ofi?

A e R BT §7I
B TG S Bt US|
C I o &t S

D JATR B §

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

&= = 3T T TR Y ugaR g TIC URAl & Ued Siud IR ald faded o 9o $ifoig-

T ST TS g QR §; IS SHST U (I¢) 37 Ti 919 F 1Y I9S U 37 I 71 98 Wl H i ot ot ot §1 98 98 3¢ & o & THER St v Fder &1 of g
it 1 T ST 9 BT ABR HAIGR FegAsdt H G il § S ST §T ARG BT §9UF G 81 A1 3| HTH F DR IUF Yo I 9 ¢ of F9al I YgRI &aR IoTl g1 R & af a1g
IS 9T a3 & 8

qlt R ISt & doesit B 1A o SR G S & TR F WA BT SFA URTA BT TRE XA B SR HR 3R A B IR B 7 § e | s srafis wWR ¥ IR
FH- §) TN T T S F HEI—3Y AR 9 BT AT & TG | S off 1 F 7T § a9 d9 S o § e fifTel s oY 3% TRA1d TR e fARan 1 genT| § e goar § 3
TSt I8 @ S 3@ IGBT 91 Tha ol wner| Goft Al 1 I8 TR G § T3 | ST Bl TR AN T3 | ST Gl B &4 & S1aug 304 §¢ B arg bt A 3¢ & T ST g of
Tie aman €9 o are 9g ool of W T & 32 7 7 A B B &R 7 & 97 I emr 3 Pidiaar 3 o o1 78 diaa-diad TR o 5 98 3 gm o TS & g §1 S 31 IR
ot R & T S A o A Ui TRE S A1 ) IATR F O T S A I TR I S BT I A | IR I IR A T 7, WA 3| Ig A B o\ oS R o g
TOrEl & T AT 97 S F g1y F & WidoT 9k SF T SIS UdhedR STl 39 FRURY BT SEHR XA BT AT B 11 I o F R oft 351 5 omad o 39 e war g1 e A
Ripraa o1 g2t 7 ora ) 3 g oft Sg 31 oo T e 7 A o Iot, i TP AIe BT U0 g 3Y 9gd W Bl A1 TR T-1 81 g1 & & [

Q.No: 19 ffefed & ¥ frg 9o & Ueiare 9d-8 &1 W fbar a7 82

A T o/ 3 & T Ml
B T QT2
C EIGoIRE: G|

D
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Correct An@ "'@ T Tt %'

Subject : Hindi Bhasha 01

Passage:

&R Y 3w T TR B ugeR g M Ul & Hed 3fd IR ad fadmed o1 9ae Sife-

21 ST 3 Sgd T ©; M IDT Uil (Ig) 3107 Hl &0 F Y IS IR 31 X381 81 9 Tl & +ff 3 o o1 It 81 96 Ug 9 F 3 & FHRR 0 S et &1 o g
Il €1 gt 3T 9 BT QPR HAAlgR eI F G Wl 8 S 3(U 4 IARER b1 S TG B AT | BT b PRUI I e IS od § ol Fdal I8 FGRI IR Iowdl ¢ T i au ag
JIHT I MG 371 3@ 71

@i gX OIS & Jaeell B oA 1S SR AT ST & BR F WU Tl | ST URTAl &1 IR &Xdlel B 3R HIT R 9 &1 THRR $1 71 § e | F=a S/ TR & SR
FH-T ) TN T T S F HEI—I IR I B oM &) M | SR of 1 7T f 9 d S o § Reen gl o o1 3% TRATT TR W e i geiTl 8 e e 7 A
Tl 3§ M % ofd SUST FH Tl & SeT| el ARl &Y I TaR AT & TS| TS St AR FARY T ST YeAl B €6 & G196 ofun g 31 @ it ot 3¢ & Ay St gade o
e man i 7 g 95 oo A7 W S O 3¢ 3T O fig Bt 3R 7 & ag Jan spn A P 3 S o w9 Siad-diad TR g 6 98 B guwn o aowt € gon 81 S & IR
2t gR 1 T I @ I o 9g I Re S BT 21 IHRR F A G ST F IHY T I S HT aral off Fordr| GER A AHRER of 7 S, W 1 S | 98 9g BT & offg o o A
oI & 77 AT1 9 ST F BT ¥ g Widol SIR 39 aHl S THsd ATl 39 U B Sad 0T BT YT 398 11 39 S 9§ Riea ft 31 i e o 59 fomms @ g1 s
Rreprad B g § ot T T a6 it 9 BT S I Hes 7 A o 91, TS T A B 90§ I Tgd RAM SRl ATl BHR G- a1 e g g

Q.No: 20 FRIRET # ¥ oIS I8 F1 9 FifoL-

A o
B A

C SR
D Exaul

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

&= R T T TR B ugaR U@ TE WAl & 9ed Siud SR ald faded B 98 $ifere-

TS ST S g G §; FIb SUDT Uil (Jg) M0 T 1Y F WY 95 U M1 ¥ 71 T8 R H o 3 o o e 1 9% 7% I F oM F TARR SO+ U9 et B R g
Il B1 1 ST 9 BT AR HAIGR Pesd H G Sl 3 3 ST e ARG BT 90T UG 81 ST | B P DRI IS Yo I 9 § o F9al I HeRI &aR Il 1 R A ¥ 915
I ST TG ST @ 8l

i X ¥ OIST & gaveoli B ofaT oS SR T ST TR F WA FHT1 ST URTA &I IR Xl B 3R URft $fR 9 &1 TR 31 e § e o <o s ©R & SRy
FH-T1 §) TN I T T F FET—3Y IR 9 B o9 & T | O it @ F 797 § a9 9% S9 o I e Afiw) s Y 39 TRATd W e faar T gl 3 srafie yeeran § 9
TSl I M % ofF SUHT FH T ol g | G4t RNl BT I TaR 1 3l T3 | T Bl ToR SaART TS| SHHT geril H &6 & dIa9g S0 9g 31 a1g il 2| 9g & 1y ST qadd
Wre o €9 fo e 9 ool o F W S & 9 T 7 @ B B iR 7 @ ag Jan err 3 Pidiaar $t i o 9 diaa-diad TR o [ 98 3 gm o a5 & g ¥ 3 31 9Re
ot gR & T I @ 5 o S I oRe S0 T 71 THRR F A T ST ¥ IIY B A1 M BT arel of fordr| g e IARaR o 7 S, W 7 o | 98 9g B o og ot 9| g
Tt &1 7T A1 9 S F BT ¥ g Wkol SR 3P Gl S UHsaR Tall 9 FUfq 1 SadHR T BT AIdT 398 11 I S I Rarga ft 351 i s o 39 fooms war 81 s
Rirad &1 g | o i a1 Arees i 9g &1 30 Y Gas A O o 91, Fifh T T BT 00§ 3Y dgd IR SRl AT TR S-S 91 ka1 & 21 Tl

Q.No: 21 fy=faRed & ¥ 3 &1 faam wes T 82

A Turf
B ok
c 3RY
D Ll

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

&= < fou 7T TR B ugaR U U URAl & 9Ed Siud SR ald fawed o 9 Fifere-

TR ST 3T 9gd T o; I SuPT UKl (Ig) 3109 1 19 F WY IJqB U 31 351 g1 96 Wl & off 3T < o S §1 9 T 9g F o P THER AT IS Adal B o I
T B1 T ST 9 BT AR AIeR el H T Sl § I ST 9 IR BT 97 G B AT 1 P F DR IS Yo IS 94 § of F9al I YeRI % Ioll 31 R & af 918
JEHT 9T 71d 37 &7 2

Al R F OISt F Josall B MG o1 SR TR ST F W & WA FH11 AT IRTAT B a¥e A B SR HRT iR §g F1 IARGR &1 Me I g9e foran| g sl wR & R0
F-T1 §) TN T T ST F HH—3 AR I BT 1T & & | O off 1 F 7T § a9 qo S o § Ran gl s oY 3% URaTd WR W %A 1 geiT| 3 e uean § 3
Tl I M % 3@ SUHT 0 THel & SeT| it ARl &1 I8 WeR A1 & TS| S Bi ToR IART TS| SATA YAl B €6 & dIaug $U I B a1G Rt 2t §g & a1 3T a0 of
e o §9 o a1g 95 o o & R S A A T < g 3 3R A @ g A o A P $t 99 o T dida-diaa TR oS i g o gwr 1 asaT & g B o 31 URE
off gR &1 T I @ 5 o 9 I TRE S BT g1 THRR F A TH SFAT 7 ITY B 1A M BT argal of fordn| GO A AHRAR ol 7 S, W T 3415 | 98 §g Bl a@ o ol 3@ 9
TOrE & T ATl 97 ST F g1y A & Wikl SR SF T 3] UHSHR TaTl 39 FRURY T SAHR AT BT AT S 11 I o F Rrepraat oft 31 &5 oo A 39 famrs xar 31 s A
Rieraa 31 g # Tt fan 3 areex off I ST SO Ty Gas 7 A O G, Fifh T F1el B U0 § IY Igd TR Rl ATl TR S-S T Ria1 Y& @l T4

Q.No: 22 IUY TR & SIER, A H § $H-1 HY o 372
o af a1e St 3T BT ST T 3T TET ATl
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A
B
C
D

Vi, g v o e we—s e ws v wew

o J A Y BET—3H IR I Y AT € &M | S off S H 7%t § a7 7 S o I e A
IR & a1 g ot A & W @ 9g A 7 @ fig F iR 71 € 9w
TR F I G S A I TR A S P AT T 7| GO e TR @ 7 37T, W T 315 | T8 9 P 3G o1 2R

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

=T T BT UG U T U= & 9 IRId IR 1 [qwed &l 797 SHife-
T S0, XA & 90 |,

eI &1 9 fd O gER

Jiae & gad, TR FHER o1

R 31 Sl § T, §

A TRAE fRE-9R SR dl

S T HieH, He TG

T ¥ SRATE Ao 9 3R )

Q.No: 23 g ufdal & ferg Fg o1 aviq gon 82

A =
B P
C aut
D |

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

FET: T &1 Ygar U T U= & 99 IFId IR a1l [aed &1 797 Sifore-
I &0, JRAY o a9@ , Y

eI B 9 ifd OR gER

e, Harh B goid § Ra-Rd

e § e, THR FHER o1

IR 2T Fedl § T, §

A A fRE-9R R dl

S Tl WIaH, e WRaad

T ¥ SREE 9fera 9 SR

Q.No: 24 Foffed uff & H1H-T1 sddR 82

A Sifadifd sRieR
B WY RPN

c S DR
D THP TAPR

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

& ST 1 Ugax g9 T U= & 999 I SR I [ased &1 797 Sifvre-
I TH, YA B 90 , |

el &) 9HS fd R gER d
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Jiaa & €ad, TR FPER o1
IR ST Hgal § AU, g
A R fORE-R WR d
ST T raA, T IR
T § SRYTa ierd 9g SR dl

Q.No: 25 g T8 &1 31 T 32

A qrE
B TRY
c qR
D ag

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

& ST 1 TgaR U9 T T=AT & 9aY 31ad 3o K [dded Bl 98 $Ieie-

It gHe, YA &1 90 |, W
el &1 99 3fd OR gER J
Jiae 8 e, TR FHER d|
R M1 Bedl § HAHIEH,
A TR fRE-R WR dl

S G A1, S TRHET

T g SRTaE Aia dg SiR df

Q.No: 26 "SRG H HH-TT ATABR 8?2

A AN EHR
B T IAAPR
C TH IABR
D Sifaiied PR

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

FERT: T T UgaR g T U= & 9 IRId SR a1 [aded &1 797 Sifore-

I A, YA P A |, TH
el &1 99 fd UR gER |
e § gad, THR FHeR o1
T o Hedl § TAUIEH, g
A TR fave-R @R dl

S Tl WIaH, He WRaad

T g SR 9 9 SR dl

Q.No: 27 "3 Tl e, He TRAE" # 39 Ufdd § $H-9 S[eR 82

A SIUY 3BR
B Y HABR
o IR PR
D THD 3HR

Correct Ans : A
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Subject : Hindi Bhasha 01

Passage:

PR P &) UgaR UP T TR S 9ed IR SR a1 [ed &1 79 PIfv-
IR <A, YA S TG |, T

el &) 9HS fd °UR gER d

Jiae § gad, TR FPER A1

IR Sffae Hgdl § AT, g

A TREE fRE-9R SR Al

A T IS, He IREE

! ¢ SRIE Fferel =g R dl

Q.No: 28 Tra ¥ Sgi-del B B W 82

A BT AR TR
B TR 3R BT
C et iR AR
D BRI 3R Fam

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

=T PToIi= BT UgaR UP T IR F 9ed IRd SR I [ed &l 797 Pife-
I S, XA & I , W

el $) 9HS A °UR gER d

e ¢ gad, IR FpeR d1

Il 37e BEdl § HAHIE, §

A A fRE-9R SR A

Sl TG e, He IREa

T ¥ TR e 9¢ iR

Q.No: 29 Frg # T B B aedl gl 87

A ERcak o
B auf

c foRg omr
D R

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 30 4 & & ity TR W enfiai & urar-Rier & ool § -1 sy TR 2

A T YN B} ART AR T TRl w1 9 faemerm & € oftfa w=a €1
B T U B e iR T Seel BT JH Hae R F € aifdfa Fva §
c TR HIHT BT e SRS HT I Haw GA 8 i Fa ¥

D T U 3 SiSD AR T WREISH T I bad R A @ ffa sa §

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 31 Which of the following fraction is the largest?
2461503

Fafafea & ¥ oF w iF 99 §91 82
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30

W | ke
o |

lelI‘)
@ |

h'llh)
@ |

IJIM
~ | o

r |r¢
~1 |

JE

w

318

w

Correct Ans : D

Subject : Mathematics

Q.No: 32 What should come in place of the question mark (?) in the following question?

2466928
0.2 % 560 + 0.4 x 460 = ?
fufefad vy & uyaras frg (7)  RIM R 7 M 91feU?
0.2 x 560 + 0.4 x 460 = ?
284
A
284
272
B
272
296
C
296
324
D
324

Correct Ans : C

Subject : Mathematics

Q.No: 33 Sum of the squares of three consecutive natural numbers is 77. Find the largest number of the three.
2467110

A ENTG WdTae SRems & ot 1 AT 77 g1 FF B 9 Ted 9t S8 19 S

6
A
6
8
B
8
5
C
5
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4
Correct Ans : A

Subject : Mathematics

Q.No: 34 . . L y 5 2069
5467174 By how much is 4_1}1 of 428 smaller than 6th of 12967

QSW§MMJw6%§um®ﬁﬁmﬁa%

861
A

861

767
B

767

973
C

973

679
D

679

Correct Ans : C

Subject : Mathematics

Q.No: 35

.3
2467188 Out of fractions -

46 8 7 o - .
'5'11'13 and = which is the second highest fraction?

P, 2, <, & R LG qu ee A P AR 8

11713

<~

~ W

o &

W

Correct Ans : C

Subject : Mathematics

Q.No: 36 Manish's present age is y years and Aman's present age is x years. Manish is thrice as old as Aman. After how many years will Manish become five times
2467375 s age?

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 10/50
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7Y 3 Tl 3 y T SR o Y o 3U x 9 §1 TR, o | i 3u o1 B1 we e o wg sroelt 31 o1 Ui T @ wmem

3y
A

3y

10x
B

10x

12x
C

12x

5y
D

5y

Correct Ans : C

Subject : Mathematics

Q.No: 37 The areas of two squares are in the ratio 225 : 256. What is the ratio of their perimeters:
2467629

B Tl & &FABA 225 : 256 F AU | 1 375 URAT BT SN 1 3:

225: 256
A
225: 256
256 : 225
B
256 : 225
15:16
C
15:16
16: 15
D
16: 15

Correct Ans : C

Subject : Mathematics

Q.No: 38 A two-digit number is such that twice the tens digit added to eleven times the units digit is equal to the number itself. Find the number.
2467727

31 Slepl P U T TR R 6 3 B 3 P TRE A H <gE P 3l BT g Sied W a8 IO & Bt 1 IS i B

a8
A

a8

86
B

86

73
c

73

54
D

54

Correct Ans : D

Subject : Mathematics

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 11/50
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Q.No: 39 A and B attempt to solve a quadratic equation of the form ax® + bx + ¢ = 0. A starts with a wrong value of b and gets
2467811 [\ \tc as -3 and -5. B starts with a wrong value of ¢ and gets the roots as 6 and 2. Find the correct roots.

A3IRB, ax?+bx +c= 0% ©U P [GHKT GHIBH Bl 0 G B W B 31 A, b & Teid HH U Y& Bl g IR -
3 IR -5 & =9 F 05 W HRAT 31 B, ¢ I 71ad A o R BT S AR 6 3 2 F =9 T Te Wi &3l 3 | g1 9a 71
EAIELY

3,4

3,4

3,5

3,5
4,6

4,6
2,3

2,3
Correct Ans : B

Subject : Mathematics

Savuoms V12167 is equal to:

12167 PR e:

21
A

21

23
B

23

19
C

19

27
D

27

Correct Ans : B

Subject : Mathematics

24'\161;048 14 If three angles of a quadrilateral are 50°,70°,90° respectively, What would be the fourth angle?

afe; v TS & S B0 HERE 50°,70°,90° T, T B 0TI I

140°

A
140°
150°

B
150°

c 90°

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 12/50
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90°

30°

30°
Correct Ans : B
Subject : Mathematics

Q.No: 42 If two supplementary angles are in the ratio of 13 : 5, find the greater angle.

2468125
i & YRS P10 13 : 5 F AT & §, AN IST B0 1 Piforg
130°

A
130°
65°

B
65°
230°

c
230°
28°

D
28°

Correct Ans : A

Subject : Mathematics

Q.No: 43 A person can be a good Mathematics teacher if he must be able to

2468428
T i TP DT O RIe & Tl 8 AR T oo 7 1&gl
gives exercises for more practices.
A
3ifie 3T & g Snar uTe 3l &
is aware of techniques of answering the questions.
B
7 F TN T F THHB! & T &
have completed Masters in Mathematics.
C
TIfore B RS O fea
understand, apply and make the connections across the concepts.
D

SyROTSH Bt T, AR B 3R S5 FT HoY T

Correct Ans : D

Subject : Mathematics

Q.No: 44 The number of minutes in 15 days is equal to the number of seconds in which of the following?
2468584

15 AT % et 3t Tem sk § P 7 ¥ foraes bl o T %2

8 hours
A

8W
B 4 hours
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46

5 hours
C

5%

6 hours
D

6T

Correct Ans : D

Subject : Mathematics

Q.No: 45 Which of the following cannot be considered as a reason for fear and failure in mathematics?
2468617

frofafea & § f3 i & W SR SRIhadr BT HRU Tt AT Sff Jabdl 82

Gender difference

A
fofT SR
Classroom experience
B
DT DT HTHT
Symbolic notation
C
TeliopTatep Heba
Structure of mathematics
D

TR Pt TR

Correct Ans : A
Subject : Mathematics

Q.No: 46 The ratio of 150 days to 1 Non leap year is:

2469612

150 fe=t § 1 A1 offy af &1 SFUIa § -

11:21
A

11:21

30:73
B

30:73

79:13
o

79:13

73:30
D

73:30

Correct Ans : B

Subject : Mathematics

Q.No: 47 Calculate the ratio of 1 kg to 375 g.
2469623

1 f&ell & 375 UM FT SN G I
A 2:7
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2:7
20:11
B
20:11
8:3
C
13
:8
D
3:8

Correct Ans : C

Subject : Mathematics

Q.No: 48 The ratio of 104 months to 13 years is:

104 TEH I 13 U BT S 7

2469631

3:5
A

3:5

2:3
B

2:3

7:5
C

7:5

4:3
D

4:3

Correct Ans : B

Subject : Mathematics

Q.No: 49 The ratio of 2250 ml to 450 ml is:

2250 fireht § 450 firelt o7 oiguma 3:

2469666

1:2
A

1:2

1:3
B

1:3

5:1
C

5:1

2:5
D

2:5

Correct Ans : C

Subject : Mathematics

Q.No: 50 Sachin got 90 marks in science out of 270. The passing mark in the exam is 40 percent. Find the ratio of marks obtained to passing marks.

2469677

ol 3 fagH § 270 F F 90 sid A §1 wdden & Sl i 40 nfaia 31 v it &1 S<huife I /U I Sl

A
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37:45

37:45
2:3

2:3

54:45

54:45
45:54

45:54
Correct Ans : D

Subject : Mathematics

Q.No: 51 If p=-2, then find the value of -3p* - 2p* +4p+ 7.

2469859

i p=-2. 71 -3p° - 2p* +4p + 7 BT HF TN DI

20
A

20

25
B

25

31
C

31

15
D

15

Correct Ans : D

Subject : Mathematics

Q.No: 52 x:3::12:4 find the value of x.

2473362
X:3 ::12:4 x BT OH 1A Biforgl
12
A
12
8
B
8
10
C
10
9
D
9

Correct Ans : D

Subject : Mathematics

Q.No: 53 Gaumutrika, Khanda, Bheda, and Ista re methods of:
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2475565
i, @s, Vet 3R g 3 faftnf ¥

A subtraction
Hcq
addition

B
an

c multiplication
o

D division

Correct Ans : C

Subject : Mathematics

Q.No: 54 If '-'is represented by 'x’, 'x' is represented by '+', '+' is represented by '+' and '+' is represented by '-', then what will be the value of 935 + 85 - 17 +
2479445 15 x 67

g - B ' GR, "%’ B+ GRT, '+ B '+ GRI AT '+ B - R <A ST §, @ 935 + 85 - 17 + 12 x 6 I WA T G2

180
A

180

181
B

181

120
C

120

121
D

121

Correct Ans : B

Subject : Mathematics

Q.No: 55 Given interchanges: signs + and +, and numbers 3 and 1; then the valueof 6 + 3 x 3 +4-1is
2481009

fow MY Yo (3T W seer): E + iR ¢, SIRYBN3 3R 1; W6 +3x3+4-1FIAAT

12
A

12

14
B

14

16
o

16

19
D

19

Correct Ans : D

Subject : Mathematics

Q.No: 56  Facility index of an item determines?
2481671

et a¥g 1 gfaen gabie Fuiika war g2
Ease or difficulty

TR a1 BRI

B Discrimination power

A
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AU xfe

Objectivity
c
e
5 Reliability
[CEGEINGH

Correct Ans : A

Subject : Mathematics

Q.No: 57 Suppose you are the Chairperson of a Board of School Education, how would you plan to improve the overall quality of education in the schools under your

2481732 jurisdiction? This type of question is an example of

T T o5 o What et €1 F sreae €, @ ST o9 SHSR &7 F ded Wpal # Riel B I el § GUR B4 &I Aol B9 S8T? 39 UHR & Uy 50T Igmesur

®

Higher order divergent
I 74 g

Higher order convergent
I HH SR

Lower order divergent
e w0 Reasi<

Lower order convergent

D e 9 sfRRoT
Correct Ans : A

Subject : Mathematics

Q.No: 58 Which of the following is a form of research typically conducted by teachers, counselors, and other professionals to answer questions they have and to

2481860 specifically help them solve local problems?

Frofafed § ¥ BF W MY AR W e, Rierarell R o IR’ §RT 39% Tadl & Sad 3 iR AT et @1 g0 $34 § Ay U § Aee &9 & g fear

Sl 82
action research
A re—
basic research
° PR orgE
predictive research
C
Qg g
D orientational research
S{HYH

Correct Ans : A

Subject : Mathematics

Q.No: 59 Two or more aspects are understood in

2481930
QA Y oifie vegel P aH I 3
Unistructural lever
A e TR
Multistructural level
8 TEERETHP TR
Rational level
¢ THETT "R
D Extended abstract level
foid AR &R

Correct Ans : B
Subject : Mathematics

Q.No: 60 What are the demerits of demonstration method?

2482453

TeH TS F 4 @ 82

Pupil do not get chance to perform experiment
B Forer i v 1 v Y P
B It is time consuming
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o AT W

It is economical method

€
Ig Torwpradt adie &

D It is based on learning by doing.
Tg Y WRgA TR 3T B

Correct Ans : A

Subject : Mathematics

Q.No: 61 Which of the following greenhouse gasses is entirely anthropogenic in origin?

2469458

Frafifad 9 @ S 6 Aoy 79 ¢l TE I AFad 87

Water vapors
A

yq

Methane
B

U

Carbon dioxide
[o

P SRAFRS

Nitrous oxide
D

BIESRECCRIESS
Correct Ans : C

Subject : Environmental Study

Q.No: 62 Greenhouse effect is caused by:

2469497
H e UM 5 FRO ST 2
Increase in environmental O,
A
TRl &I 0, H qfg
Deérease in environmental O»
B
ATATA %1 O H HHT
Increase in environmental CO;
c
ATATALN i CO, H Al
Deérease in environmental CO»
D

ATATAC ] COp H HHT

Correct Ans : C

Subject : Environmental Study

Q.No: 63 Most polluted city in India is:
2469739

R BT I Ui e B-
A Mumbai
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i

Kolkata
B

SIS

Delhi
C

Rt

Chennai
D

EEH

Correct Ans : C

Subject : Environmental Study

Q.No: 64 For most of the organisms, the optimum temperature rang lies between -
2469769

EEd: SifieaR it Sidi @1 srgew arAr FeArarad Aol & g 8-

0°-20°C
A

0°-20°C

0°-10°C
B

0°-10°C

30°-40°C
C

30°-40°C

0°-50°C
D

0°-50°C

Correct Ans : D

Subject : Environmental Study

Q.No: 65 A teacher finds some of his students exceptionally bright and intelligent. How will the teacher teach them?

2470319

e/ 30 T8 SHT B SRITHURY Y ¥ 3599 SR A Ul 31 e 32 H gerai?

Along with higher classes
A

I parel & WY

Using enriched curriculum
B

IS UIGHHH BT SUANT TR

As per his wish
C

I TV T ITAR

Along with rest of the class
D

T BT & A

Correct Ans : B

Subject : Environmental Study

Q.No: 66 Which of the following is a sign of motivated teaching?
2470360
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Profafaa § ¥ S Ifvd Riaon 1 Wb 82

Maximum presence of students in the class

A
Fa&T § BF 31 Sfiman Surfd
Asking questions by students
B
B GRT Y BT
Pin drop silence in the class
C
weT ¥ guf wify
Completion of home assignments
D

& BT & i
Correct Ans : B

Subject : Environmental Study

Q.No: 67 1In EVS classroom scaffolding refers to the process where teacher
2470465

ey e T WhareT 39 ufthdr 3 ehifa Fxar § st Riew-

Ask student to practice exercises repeatedly

A
BHEI BT IR-TR 3N T Bl Tg
Supports students to obtain good marks
B
I i Wi FRA T Teg Bl §
Gives temporary support to learners to enhance learning
C
e Y Jgm F forg el a1 sreurdt wemar ot 7
Teacher encourages learners to solve the problem effectively
D

T B T T QT B & e Rienfa @Y iR s g

Correct Ans : C

Subject : Environmental Study

Q.No: 68 How old is Jaisalmer Fort and is in a state of decay, with many of its beautiful palaces on the verge of collapse. The arrival of tourists put a spotlight on
2470692 these heritage buildings leading to a major conservation initiative by INTACH

SR BT bl a1 Qo & SR Siivl-2fivf sfawa & §, 399 35 QaRd 769 861 & PR IR | Wedl & A J 39 fRa vl W yerr s, s INTACH
. GR1 TP U IR0 Ugd Bl T

1000 years

1000 T

550 years

550 417

850 years

850 Y

650 years

650 i
Correct Ans : C

Subject : Environmental Study
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Q.No: 69 Which of these was not worshipped by the Harappan?

2470797
T e GOl g3 & G e HRa 42
Nature
A
Eeall
Goddess
B
Ll
Indra
C
3=

Pashupatinath

oA

Correct Ans : C

Subject : Environmental Study

Q.No: 70 In March, the highest temperature recorded on the Deccan plateau is about;
2472232

T &, gah & TR W o (bl AT I aqdH TIHT §;

50 degree Celsius

A

50 f&it Sy

45 degree Celsius
B

45 &R 3w

20 degree Celsius
€

20 & SfRm"

38 degree Celsius
D

38 fooft AfRmw

Correct Ans : D

Subject : Environmental Study

Q.No: 71 India is the second largest producer of sugarcane only after which country?
2472495

HRA T 3T & 91C T BT IR o g1 AR 82

Brazil
A
EICikt
China
B
Gk
Japan
C
Sitic)
America
D
ARt
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Correct Ans : A

Subject : Environmental Study

Q.No: 72 Which of the following act as regulator in physiological activities?
2472616

Fofafaa ¥ ¥ #F IRRe Tl & Fames & w0 § orf war g2

Proteins
A

W

Fat
B

qq

Carbohydrate
C

PrlerE3e

Mineral
D

T uarf

Correct Ans : D

Subject : Environmental Study

Q.No: 73 Carbohydrate which is found in milk.

2472847

Y § UT o de SeTeRsel

Glucose
A

Fructose
B

Starch
C

w®E

Lactose
D

A

Correct Ans : D

Subject : Environmental Study

Q.No: 74 Which vitamin can give protection to skin and eyes?
2473034

P faeItF ol 9 @1 &) WRem YaH Fal 87

Vitamin A
A

e A

Vitamin B
B

et B

Vitamin C
C

e ¢
D Vitamin D

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 23/50

Page - 23



faerfm D

Correct Ans : A

Subject : Environmental Study

Q.No: 75 In which year was the Indian Deep Space Network (ISDN) commissioned?
2473924

YR T Sfaer Fead (o, vH.SL.uA.) &I fvar a9 =g foman man ur?

2001
A

2001

2005
B

2005

2008
C

2008

2011
D

2011

Correct Ans : C

Subject : Environmental Study

Q.No: 76 In which of the following ways 2DPA-1 polymers can be used?
2474066

frofafEa # ¥ 59 UHR 2DPA-1 S50 &1 IUART 5T ST T 82

To coat smartphones only

A
Had FIEHH Bl Bl F & g
To coat automotive parts only
B
Faa SiicHied UeE P PIc T & 1Y
To coat smartphones and automotive parts
C
WIEHH 3R Sfidmife uIdy &1 $ic e37 & fag
To grow plants
D

o v F Rig

Correct Ans : C

Subject : Environmental Study

Q.No: 77 Which of the following satellites helped in identifying the planet “GJ 367 b"?
2474154

Fofafaa # ¥ 59 STE 3 78 "G 367 b" $ UgTM B3 # 7S B?
Transiting Exoplanet Survey Satellite (TESS)

A
TR vasiane §d JeaRe (TESS)
New Exoplanet Survey Satellite (NESS)
B
Y THSI@HE 99 Yease (NESS)
C Double Asteroid Redirection Satellite (DARS)
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T WeRls MfS¥awH Yearse (DARS)

Curiosity

TR

Correct Ans : A

Subject : Environmental Study

Q.No: 78 Which of the following missions is selected by NASA to study the “lost habitat” of Venus?
2474199

e # ¥ HF a1 fARH T R YF & "6 gU AR BT T S & R1g A T R?

DAVINCI+
A

DAVINCI+

GIVANCI+
B

GIVANCI+

BARINCH -
C

BARINCH -

DAVINCI -
D

DAVINCI -

Correct Ans : A

Subject : Environmental Study

Q.No: 79 Water is also known as:

2475714
it B 39 UHR i T ST /:
Universal solution
A
et T
Universal Solvent
B
e e
Magic solvent
C
TGS faam®
Magic solution
D

TS TH
Correct Ans : B

Subject : Environmental Study

Q.No: 80 Who's the current director of the National Centre of Organic Farming?

2475802
T S Tt Bz F FeRE DA B2
Dr. Ganesh Sharma
A
ST TTorer =mt
Dr. Krishna Bihari
B
1. Pon foer
c
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Dr. Priyanka Pradhan

1. frdeT uy™

Shri Ravindra Kumar

off 3= AR
Correct Ans : A

Subject : Environmental Study

Q.No: 81 Farmers have to add to the fields to replenish the soil with nutrients.
2475856
it &1 dives acdl A WA e T &) @l 7 STaT IS g
manures
A
g
seeds
B
ot
water
C
Ll

seeds and water both

e R Tl S

Correct Ans : A

Subject : Environmental Study

Q.No: 82 Who won the orange cap in IPL 2021?

2476551
3msdid 2021 & ¥ Fu g Sfiare
Virat Kohli
A
forre Preeht
KL Rahul
B
%.79. g
Ruturaj Gaikwad
C
BRI TADHATS
Quinton de Kock
D

BT S ole

Correct Ans : C

Subject : Environmental Study

Q.No: 83  Damali is the folk dance of which state/UT?
2476600

TN forr Tor /o QT &I T oleh 51 87

Himachal Pradesh

[EEICER N

B Uttar Pradesh
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T WS

Jammu Kashmir

O HRAR
Chattisgarh

TG
Correct Ans : C

Subject : Environmental Study

Q.No: 84 Briefing the students before the proposed educational tour means telling the students about:
2477340

TN fed YA A BT B THBRT 3 B o § BE B 39 IR H w4

Do’s and Don'ts for the visit

A
e kAT Bl B
Only Do’s for the visit
B
Faa am & fag T B
Only Don'ts for the visit
C
S aE S R T e
Free the students to roam
D

BE F T F AT sireme HY

Correct Ans : A

Subject : Environmental Study

Q.No: 85 At the site, children need to be given enough opportunity and time to make the site.
2477342
e R, g= Bl ¥ fog vt sfawR ok Ty fau o &t eraxged 1
Observation and Explore
A
STTIH S ST
Impulsive decisions and leave
B
Irrft fofa iR o 3
rational decisions and leave
C
T PR ol o &
Uninformed choices and stay at
D

JTR AFeT 3R I

Correct Ans : A

Subject : Environmental Study

Q.No: 86 In what layer of atmosphere is the ‘Bad’ Ozone found?
2477830

IGATST F o W A R S I Sl 82

Troposphere

ghisa
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B Stratosphere

A Hed
Thermosphere
C
qaAvSS
Mesosphere
D
HHHTST

Correct Ans : A

Subject : Environmental Study

Q.No: 87 The theory which holds that the plates ride up on the more mobile mantle resulting in plates contacting each other arising stress in the crust is called
2477916 \yhat?

I¢ Rigia S 98 A § 6 @ offte Tioxiia yuaR (Hed) R Jedl § e IRUFRaEY ©ed U6 guk & 9 # o J YOuel () & 11 3O gl 8, T Hedmdl o?

Theory of plate tectonics

A
we Rt Rigia
Theory of Disaster
B
et 1 Rigia
Theory of Earthquake
C
yHy F1 Rigia
Theory of Natural Calamities
D

WPphid Smagrslt &1 Rigia

Correct Ans : A

Subject : Environmental Study

Q.No: 88 Which of the following terms refer to the non-living component of the environment?
2477968

Fofafed & 3 s wes gaiwu & FBeffa 9o o deffa ovar g2

Biotic
A

s

Abiotic
B

Spoifds

Tangible
Cc

o

Biotech
D

SRie®

Correct Ans : B

Subject : Environmental Study

Q.No: 89 Which of the following is NOT advisable while making Powerpoint slides to be used as TLM (Teaching-Learning Material)?
2478694
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A There should be one line per point
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Try to keep the Powerpoint presentation short, so a slide should be crammed with information

B
TTERUTSE FOICRM B BIeT T B PIRE HY, FHRI 6% I T WIS § g ey
Universal abbreviations should be used
o
g &t BT ST i S IR
Complicated figures should be avoided
D

wifew sipfaal | =1 o =gyl
Correct Ans : B

Subject : Environmental Study

Q.No: 90 The term implies that evaluation of learners’ performance is carried out in both scholastic and co-scholastic areas?

2478720

P A ¢ & el & vesiy o1 geaie e ok g-Aféres ST & # foram S 82

Comprehensive

A
AUS
Continuous
B
R
Formative
Cc
AP
Summative
D

AT

Correct Ans : A

Subject : Environmental Study

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Sure, this world is full of trouble
I ain't said it ain't.

Lord, I've had enough and double
Reason for complaint;

Rain and storm have come to fret me,
Skies are often gray;

Thorns and brambles have beset me
On the road — but say,
Ain't it fine today?

What's the use of always weepin',
Making trouble last?

What's the use of always keepin'
Thinkin' of the past?

Each must have his tribulation —
Water with his wine;

Life, it ain't no celebration,
Trouble? — I've had mine —

But today is fine!
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Q.No: 91 Which of the following is the most suitable title for the given poem?

A It's Fine Today

B Life is Just

C Let There be Happiness
D Happiness and Troubles

Correct Ans : A

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Sure, this world is full of trouble
I ain't said it ain't.

Lord, I've had enough and double
Reason for complaint;

Rain and storm have come to fret me,
Skies are often gray;

Thorns and brambles have beset me
On the road — but say,
Ain't it fine today?

What's the use of always weepin’,
Making trouble last?

What's the use of always keepin'
Thinkin' of the past?

Each must have his tribulation —
Water with his wine;

Life, it ain't no celebration,
Trouble? — I've had mine —

But today is fine!

Q.No: 92 ‘Rain and storm have come to Rain and storm have come to fret me’, Which of the following is nearest in meaning to the word ‘fret’?

A something hidden that not many know or understand
B full of trivial conversation

C to be worried and unhappy about something

D unnecessary and unwarranted

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Sure, this world is full of trouble
I ain't said it ain't.

Lord, I've had enough and double
Reason for complaint;

Rain and storm have come to fret me,
Skies are often gray;

Thorns and brambles have beset me
On the road — but say,
Ain't it fine today?

What's the use of always weepin',
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Making trouble last?

What's the use of always keepin'
Thinkin' of the past?

Each must have his tribulation —
Water with his wine;

Life, it ain't no celebration,
Trouble? — I've had mine —

But today is fine!

Q.No: 93 Which of the following is opposite in meaning to the word 'beset'?

A perplex
B attack
C please
D afford

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Sure, this world is full of trouble
I ain't said it ain't.

Lord, I've had enough and double
Reason for complaint;

Rain and storm have come to fret me,
Skies are often gray;

Thorns and brambles have beset me
On the road — but say,
Ain't it fine today?

What's the use of always weepin’,
Making trouble last?

What's the use of always keepin'
Thinkin' of the past?

Each must have his tribulation —
Water with his wine;

Life, it ain't no celebration,
Trouble? — I've had mine —

But today is fine!

Q.No: 94 ‘Lord, I've had enough and double’. What does the poet talk about in the given line?

A love

B happiness
Cc sadness

D trouble

Correct Ans : D

Subject : English Language 02

Passage:
Direction: Read the given poem and answer the question given below accordingly.
Sure, this world is full of trouble

I ain't said it ain't.
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Lord, I've had enough and double
Reason for complaint;

Rain and storm have come to fret me,
Skies are often gray;

Thorns and brambles have beset me
On the road — but say,
Ain't it fine today?

What's the use of always weepin’,
Making trouble last?

What's the use of always keepin'
Thinkin' of the past?

Each must have his tribulation —
Water with his wine;

Life, it ain't no celebration,
Trouble? — I've had mine —

But today is fine!

Q.No: 95 ‘Skies are often gray’. Which part of speech is the word ‘often’ in the given line?

A adjective

B preposition
C conjunction
D adverb

Correct Ans : D

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Sure, this world is full of trouble
I ain't said it ain't.

Lord, I've had enough and double
Reason for complaint;

Rain and storm have come to fret me,
Skies are often gray;

Thorns and brambles have beset me
On the road — but say,
Ain't it fine today?

What's the use of always weepin',
Making trouble last?

What's the use of always keepin'
Thinkin' of the past?

Each must have his tribulation —
Water with his wine;

Life, it ain't no celebration,
Trouble? — I've had mine —

But today is fine!

Q.No: 96 What does the word ‘complaint’ mean in the given poem?

A consisting of elements that are not of the same kind
B impossible to deny or disprove
Cc
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D B&aﬁwwtﬁgqﬁ&mmg is unsatisfactory or unacceptable

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Sure, this world is full of trouble
I ain't said it ain't.

Lord, I've had enough and double
Reason for complaint;

Rain and storm have come to fret me,
Skies are often gray;

Thorns and brambles have beset me
On the road — but say,
Ain't it fine today?

What's the use of always weepin’,
Making trouble last?

What's the use of always keepin'
Thinkin' of the past?

Each must have his tribulation —
Water with his wine;

Life, it ain't no celebration,
Trouble? — I've had mine —

But today is fine!

Q.No: 97 Why does the author say, “Life is no celebration”?

A because people are worthless

B because people don’t understand the meaning of being alive
C because life is full of trouble

D because life is fair but we demand too much from it

Correct Ans : C
Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Nelson Rolihlahla Mandela was born on 18 July 1918 in the Transkei village close to Umtata. Nelson Mandela was sent to Healdtown, a Wesleyan secondary school
with some reputation where he enrolled after getting a primary education at a local mission school. He then registered for the Bachelor of Arts degree at Fort Hare
University College where he was appointed to the Representative Council of the Student. Also, he was suspended for joining a protest boycott from college. He went
to Johannesburg where, by correspondence, he finished his BA, took clerkship papers and began studying for his LLB. The Nelson Mandela essay is an insight into the
life and works of the great man. A Xhosa speaker, Mandela was born into the Thembu royal family in Mvezo, Union of South Africa. He studied law at the University of
Fort Hare and the University of Witwatersrand before working as a lawyer in Johannesburg. There he became involved in anti-colonial and African nationalist politics,
joining the ANC in 1943 and co-founding its Youth League in 1944. After the National Party's white-only government established apartheid, a system of racial
segregation that privileged whites, Mandela and the ANC committed themselves to its overthrow. He was appointed president of the ANC's Transvaal branch, rising to
prominence for his involvement in the 1952 Defiance Campaign and the 1955 Congress of the People.

He is held in deep respect within South Africa, where he is often referred to by his Thembu clan name, Madiba, and described as the "Father of the Nation". He was
repeatedly arrested for seditious activities and was unsuccessfully prosecuted in the 1956 Treason Trial. Influenced by Marxism, he secretly joined the banned South
African Communist Party (SACP). Although initially committed to non-violent protest, in association with the SACP he co-founded the militant uMkhonto we Sizwe in
1961 and led a sabotage campaign against the government. He was arrested and imprisoned in 1962, and, following the Rivonia Trial, was sentenced to life
imprisonment for conspiring to overthrow the state.

Q.No: 98 Which of the following names is not used to refer to Nelson Mandela?

A Thembu clan
B Rivonia
C
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D mﬁ the Nation

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Nelson Rolihlahla Mandela was born on 18 July 1918 in the Transkei village close to Umtata. Nelson Mandela was sent to Healdtown, a Wesleyan secondary school
with some reputation where he enrolled after getting a primary education at a local mission school. He then registered for the Bachelor of Arts degree at Fort Hare
University College where he was appointed to the Representative Council of the Student. Also, he was suspended for joining a protest boycott from college. He went
to Johannesburg where, by correspondence, he finished his BA, took clerkship papers and began studying for his LLB. The Nelson Mandela essay is an insight into the
life and works of the great man. A Xhosa speaker, Mandela was born into the Thembu royal family in Mvezo, Union of South Africa. He studied law at the University of
Fort Hare and the University of Witwatersrand before working as a lawyer in Johannesburg. There he became involved in anti-colonial and African nationalist politics,
joining the ANC in 1943 and co-founding its Youth League in 1944. After the National Party's white-only government established apartheid, a system of racial
segregation that privileged whites, Mandela and the ANC committed themselves to its overthrow. He was appointed president of the ANC's Transvaal branch, rising to
prominence for his involvement in the 1952 Defiance Campaign and the 1955 Congress of the People.

He is held in deep respect within South Africa, where he is often referred to by his Thembu clan name, Madiba, and described as the "Father of the Nation". He was
repeatedly arrested for seditious activities and was unsuccessfully prosecuted in the 1956 Treason Trial. Influenced by Marxism, he secretly joined the banned South
African Communist Party (SACP). Although initially committed to non-violent protest, in association with the SACP he co-founded the militant uMkhonto we Sizwe in
1961 and led a sabotage campaign against the government. He was arrested and imprisoned in 1962, and, following the Rivonia Trial, was sentenced to life
imprisonment for conspiring to overthrow the state.

Q.No: 99 Which of the following was co-founded by Nelson Mandela?

A Youth League of ANC
B Youth ANC

C African Youth League
D Anti-colonial Youth

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Nelson Rolihlahla Mandela was born on 18 July 1918 in the Transkei village close to Umtata. Nelson Mandela was sent to Healdtown, a Wesleyan secondary school
with some reputation where he enrolled after getting a primary education at a local mission school. He then registered for the Bachelor of Arts degree at Fort Hare
University College where he was appointed to the Representative Council of the Student. Also, he was suspended for joining a protest boycott from college. He went
to Johannesburg where, by correspondence, he finished his BA, took clerkship papers and began studying for his LLB. The Nelson Mandela essay is an insight into the
life and works of the great man. A Xhosa speaker, Mandela was born into the Thembu royal family in Mvezo, Union of South Africa. He studied law at the University of
Fort Hare and the University of Witwatersrand before working as a lawyer in Johannesburg. There he became involved in anti-colonial and African nationalist politics,
joining the ANC in 1943 and co-founding its Youth League in 1944. After the National Party's white-only government established apartheid, a system of racial
segregation that privileged whites, Mandela and the ANC committed themselves to its overthrow. He was appointed president of the ANC's Transvaal branch, rising to
prominence for his involvement in the 1952 Defiance Campaign and the 1955 Congress of the People.

He is held in deep respect within South Africa, where he is often referred to by his Thembu clan name, Madiba, and described as the "Father of the Nation". He was
repeatedly arrested for seditious activities and was unsuccessfully prosecuted in the 1956 Treason Trial. Influenced by Marxism, he secretly joined the banned South
African Communist Party (SACP). Although initially committed to non-violent protest, in association with the SACP he co-founded the militant uMkhonto we Sizwe in
1961 and led a sabotage campaign against the government. He was arrested and imprisoned in 1962, and, following the Rivonia Trial, was sentenced to life
imprisonment for conspiring to overthrow the state.

Q.No: 100 wWhy Nelson Mandela was suspended after registering for the Bachelor of Arts degree?

A he was suspended for taking part in illegal activities outside the college

B he was suspended for abusing the college staff

C he was suspended for joining a protest boycott from college

D he was suspended for giving lectures in the college while he was supposed to attend lectures

Correct Ans : C

Subject : English Language 02
Passage:

Read the passage given below and then answer the questions given below the passage.
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Nelson Rolihlahla Mandela was born on 18 July 1918 in the Transkei village close to Umtata. Nelson Mandela was sent to Healdtown, a Wesleyan secondary school
with some reputation where he enrolled after getting a primary education at a local mission school. He then registered for the Bachelor of Arts degree at Fort Hare
University College where he was appointed to the Representative Council of the Student. Also, he was suspended for joining a protest boycott from college. He went
to Johannesburg where, by correspondence, he finished his BA, took clerkship papers and began studying for his LLB. The Nelson Mandela essay is an insight into the
life and works of the great man. A Xhosa speaker, Mandela was born into the Thembu royal family in Mvezo, Union of South Africa. He studied law at the University of
Fort Hare and the University of Witwatersrand before working as a lawyer in Johannesburg. There he became involved in anti-colonial and African nationalist politics,
joining the ANC in 1943 and co-founding its Youth League in 1944. After the National Party's white-only government established apartheid, a system of racial
segregation that privileged whites, Mandela and the ANC committed themselves to its overthrow. He was appointed president of the ANC's Transvaal branch, rising to
prominence for his involvement in the 1952 Defiance Campaign and the 1955 Congress of the People.

He is held in deep respect within South Africa, where he is often referred to by his Thembu clan name, Madiba, and described as the "Father of the Nation". He was
repeatedly arrested for seditious activities and was unsuccessfully prosecuted in the 1956 Treason Trial. Influenced by Marxism, he secretly joined the banned South
African Communist Party (SACP). Although initially committed to non-violent protest, in association with the SACP he co-founded the militant uMkhonto we Sizwe in
1961 and led a sabotage campaign against the government. He was arrested and imprisoned in 1962, and, following the Rivonia Trial, was sentenced to life
imprisonment for conspiring to overthrow the state.

Q.No: 101 Which of the following sentences is correct according to the information given in the passage?

A Mandela was born into the Madiba royal family in Mvezo

B Mandela then registered for the Bachelor of Arts degree at University of Witwatersrand
C Mandela secretly joined the banned South African Communist Party

D Mandela was the chief member of African Youth League

Correct Ans : C

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Nelson Rolihlahla Mandela was born on 18 July 1918 in the Transkei village close to Umtata. Nelson Mandela was sent to Healdtown, a Wesleyan secondary school
with some reputation where he enrolled after getting a primary education at a local mission school. He then registered for the Bachelor of Arts degree at Fort Hare
University College where he was appointed to the Representative Council of the Student. Also, he was suspended for joining a protest boycott from college. He went
to Johannesburg where, by correspondence, he finished his BA, took clerkship papers and began studying for his LLB. The Nelson Mandela essay is an insight into the
life and works of the great man. A Xhosa speaker, Mandela was born into the Thembu royal family in Mvezo, Union of South Africa. He studied law at the University of
Fort Hare and the University of Witwatersrand before working as a lawyer in Johannesburg. There he became involved in anti-colonial and African nationalist politics,
joining the ANC in 1943 and co-founding its Youth League in 1944. After the National Party's white-only government established apartheid, a system of racial
segregation that privileged whites, Mandela and the ANC committed themselves to its overthrow. He was appointed president of the ANC's Transvaal branch, rising to
prominence for his involvement in the 1952 Defiance Campaign and the 1955 Congress of the People.

He is held in deep respect within South Africa, where he is often referred to by his Thembu clan name, Madiba, and described as the "Father of the Nation". He was
repeatedly arrested for seditious activities and was unsuccessfully prosecuted in the 1956 Treason Trial. Influenced by Marxism, he secretly joined the banned South
African Communist Party (SACP). Although initially committed to non-violent protest, in association with the SACP he co-founded the militant uMkhonto we Sizwe in
1961 and led a sabotage campaign against the government. He was arrested and imprisoned in 1962, and, following the Rivonia Trial, was sentenced to life
imprisonment for conspiring to overthrow the state.

Q.No: 102 ‘Mandela was sentenced to life imprisonment for conspiring to overthrow the state’. Which of the following is nearest in meaning to the word ‘conspire’ in
the given line?

A collude

B neglect

C adopt

D proposition

Correct Ans : D

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Nelson Rolihlahla Mandela was born on 18 July 1918 in the Transkei village close to Umtata. Nelson Mandela was sent to Healdtown, a Wesleyan secondary school
with some reputation where he enrolled after getting a primary education at a local mission school. He then registered for the Bachelor of Arts degree at Fort Hare
University College where he was appointed to the Representative Council of the Student. Also, he was suspended for joining a protest boycott from college. He went
to Johannesburg where, by correspondence, he finished his BA, took clerkship papers and began studying for his LLB. The Nelson Mandela essay is an insight into the
life and works of the great man. A Xhosa speaker, Mandela was born into the Thembu royal family in Mvezo, Union of South Africa. He studied law at the University of
Fort Hare and the University of Witwatersrand before working as a lawyer in Johannesburg. There he became involved in anti-colonial and African nationalist politics,
joining the ANC in 1943 and co-founding its Youth League in 1944. After the National Party's white-only government established apartheid, a system of racial
segregation that privileged whites, Mandela and the ANC committed themselves to its overthrow. He was appointed president of the ANC's Transvaal branch, rising to
prominence for his involvement in the 1952 Defiance Campaign and the 1955 Congress of the People.

He is held in deep respect within South Africa, where he is often referred to by his Thembu clan name, Madiba, and described as the "Father of the Nation". He was
repeatedly arrested for seditious activities and was unsuccessfully prosecuted in the 1956 Treason Trial. Influenced by Marxism, he secretly joined the banned South
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African Communist Party (SACP). Although initially committed to non-violent protest, in association with the SACP he co-founded the militant uMkhonto we Sizwe in
1961 and led a sabotage campaign against the government. He was arrested and imprisoned in 1962, and, following the Rivonia Trial, was sentenced to life
imprisonment for conspiring to overthrow the state.

Q.No: 103 ‘Led a sabotage campaign against the government’. Which of the following is opposite in meaning to the word ‘sabotage’ in the given line?

A create

B hinder

C disrupt
D obstruct

Correct Ans : A
Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Nelson Rolihlahla Mandela was born on 18 July 1918 in the Transkei village close to Umtata. Nelson Mandela was sent to Healdtown, a Wesleyan secondary school
with some reputation where he enrolled after getting a primary education at a local mission school. He then registered for the Bachelor of Arts degree at Fort Hare
University College where he was appointed to the Representative Council of the Student. Also, he was suspended for joining a protest boycott from college. He went
to Johannesburg where, by correspondence, he finished his BA, took clerkship papers and began studying for his LLB. The Nelson Mandela essay is an insight into the
life and works of the great man. A Xhosa speaker, Mandela was born into the Thembu royal family in Mvezo, Union of South Africa. He studied law at the University of
Fort Hare and the University of Witwatersrand before working as a lawyer in Johannesburg. There he became involved in anti-colonial and African nationalist politics,
joining the ANC in 1943 and co-founding its Youth League in 1944. After the National Party's white-only government established apartheid, a system of racial
segregation that privileged whites, Mandela and the ANC committed themselves to its overthrow. He was appointed president of the ANC's Transvaal branch, rising to
prominence for his involvement in the 1952 Defiance Campaign and the 1955 Congress of the People.

He is held in deep respect within South Africa, where he is often referred to by his Thembu clan name, Madiba, and described as the "Father of the Nation". He was
repeatedly arrested for seditious activities and was unsuccessfully prosecuted in the 1956 Treason Trial. Influenced by Marxism, he secretly joined the banned South
African Communist Party (SACP). Although initially committed to non-violent protest, in association with the SACP he co-founded the militant uMkhonto we Sizwe in
1961 and led a sabotage campaign against the government. He was arrested and imprisoned in 1962, and, following the Rivonia Trial, was sentenced to life
imprisonment for conspiring to overthrow the state.

Q.No: 104 ‘Although initially committed to non-violent protest, he co-founded the militant uMkhonto we Sizwe’. Which part of speech is the word ‘although’ in the
given line?

adverb
conjunction

determiner

o 0O W r

preposition
Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Nelson Rolihlahla Mandela was born on 18 July 1918 in the Transkei village close to Umtata. Nelson Mandela was sent to Healdtown, a Wesleyan secondary school
with some reputation where he enrolled after getting a primary education at a local mission school. He then registered for the Bachelor of Arts degree at Fort Hare
University College where he was appointed to the Representative Council of the Student. Also, he was suspended for joining a protest boycott from college. He went
to Johannesburg where, by correspondence, he finished his BA, took clerkship papers and began studying for his LLB. The Nelson Mandela essay is an insight into the
life and works of the great man. A Xhosa speaker, Mandela was born into the Thembu royal family in Mvezo, Union of South Africa. He studied law at the University of
Fort Hare and the University of Witwatersrand before working as a lawyer in Johannesburg. There he became involved in anti-colonial and African nationalist politics,
joining the ANC in 1943 and co-founding its Youth League in 1944. After the National Party's white-only government established apartheid, a system of racial
segregation that privileged whites, Mandela and the ANC committed themselves to its overthrow. He was appointed president of the ANC's Transvaal branch, rising to
prominence for his involvement in the 1952 Defiance Campaign and the 1955 Congress of the People.

He is held in deep respect within South Africa, where he is often referred to by his Thembu clan name, Madiba, and described as the "Father of the Nation". He was
repeatedly arrested for seditious activities and was unsuccessfully prosecuted in the 1956 Treason Trial. Influenced by Marxism, he secretly joined the banned South
African Communist Party (SACP). Although initially committed to non-violent protest, in association with the SACP he co-founded the militant uMkhonto we Sizwe in
1961 and led a sabotage campaign against the government. He was arrested and imprisoned in 1962, and, following the Rivonia Trial, was sentenced to life
imprisonment for conspiring to overthrow the state.

Q.No: 105 ‘He is held in deep respect within South Africa’. Which part of speech is the word ‘within’ in the given line of the passage?

A preposition
B determiner
¢ adverb
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D conjunction
Correct Ans : A

Subject : English Language 02

Q.No: 106 Constructivism in language learning mainly focuses on which of the following?

A engaging learners in exploring new knowledge
B memorising grammar rules

C dominant role of the teacher in a classroom

D none of the given options

Correct Ans : A
Subject : English Language 02

Q.No: 107 Language is tool since it is used for

A communication
B processing ideas
C thinking

D conveying ideas

Correct Ans : A

Subject : English Language 02

Q.No: 108 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

When I saw her, she was looking quite , quite unlike her normal self.
A dangerously
B cruelty
C noise
D defeated

Correct Ans : D

Subject : English Language 02

Q.No: 109 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

I haven't spoken to her

A than

B yet

C never

D absolute

Correct Ans : B

Subject : English Language 02

Q.No: 110 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

We should stop shopping now we spend all our money.
A and
B but
C although
D before

Correct Ans : D

Subject : English Language 02

Q.No: 111 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

She told me that it was three weeks
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A before
B ago

(& while
D last

Correct Ans : B

Subject : English Language 02

Q.No: 112 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

I go to work, I jog for at least an hour.

A instead
B whereby
C before

D despite

Correct Ans : C

Subject : English Language 02

Q.No: 113 Learning is the relatively permanent change in a person’s knowledge or behaviour due to experience. This was coined by which of the following?

A Susan Ambrose
B Richard E Mayer
C B F Skinner

D Noam Chomsky

Correct Ans : B

Subject : English Language 02

Q.No: 114 Who among the following propounded the theory of learning known as operant conditioning?

A Pavlov

B Richard E Mayer
Cc B F Skinner

D Piaget

Correct Ans : C

Subject : English Language 02

Q.No: 115 The objective of using role play is —

A to evaluate dialogue writing skill

B to promote the reading habit

o} to improve the communicative competence
D to develop acting talent

Correct Ans : C

Subject : English Language 02

Q.No: 116 What should be the quality of a good speaker?

A Clear

B Informative

[ both clear and informative
D None of the given options

Correct Ans : C

Subject : English Language 02

Q.No: 117 What would be suggestions of teaching English in Diverse Classroom?

A interaction session between teacher and the students should be more.
B teacher should always try to converse in English with the learner .
C teachers’ knowledge of students diverse culture informs a teacher
D
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Correct Ans alpof the given options

Subject : English Language 02

Q.No: 118 1In which of the following conditions would a teacher consider remedial classes as an effective measure to ensure effective learning?

A Few students in her class have a low attention span and are unable to perform well in class activities and formative assessments.
B Few students in her class are preparing for a quiz competition and need extra inputs from the teacher to perform well in the quiz.
C The teacher missed out a few points when the topic was first taught in the class.

D None of the above

Correct Ans : A

Subject : English Language 02

Q.No: 119 Which of the following is incorrect with respect to importance of grammar?

A It ensures correct pronunciation

B It ensures correct sentence structure

C It ensures coherent expression

D It helps in learning about correct punctuation.

Correct Ans : A
Subject : English Language 02

Q.No: 120 which of the following classroom activity is best suited for the application of constructivism in language teaching?

A Role playing

B Black board games

C Discussion and debates
D All of above

Correct Ans : D

Subject : English Language 02

Q.No: 121 Understanding child’s behavior requires knowledge of basic concept of -
2473559

SIAF & TagR P T F U g sraumonsi & M St sraxadmdr gt § -

Dependence and independence

A
Frvfvar wd e
Maturation and learning
B
IRYeT T Ticiarl
Masculinity and faminity
C
U Td i
Generalization and specification
D

rRiie< Td ke
Correct Ans : B

Subject : Child Developement

Q.No: 122 At the primary stage, assessment should consist of

2474270
Wi TR B Sad A 1 IRy
half-yearly and annual examinations at the end of the year
A
o e wdiem o o & of & afife wden
B home assignments and class assignments every week to rate young learners under the categories of pass or fail
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Il SiR ergeiivfar Soft & sicia gar Rienfiar o1 Tegie w4 & T R I S SRR SR BaT SMEHE

continuous and unstructured teacher observations to be shared with learners and parents

Rreger 31 o SR Soaafyd saciie B el v wmr-fer ¥ 9w s

formal tests and games done every week and recorded in the report card

e guiTe Nueie vy wdam iR Sage v RaE o1 # 5 oo s
Correct Ans : C

Subject : Child Developement

Q.No: 123 1In Piaget’s theory, the sensorimotor stage marks the period from-

2474419
o ¥ Riga ¥, Sike Wi wu, FH-0 safl gk &2
1 year to 3 years
A
19§ 3 a¥ aF
2 years to 4 years
B
24 ad TP
Birth to 2 years
C
T8 2 9 a@
Birth to 4 years
D

9 Y 4 ¥ a%
Correct Ans : C

Subject : Child Developement

Q.No: 124 Counseling process should result in assisting the individual to become
2475322

1.Autonomous

2. Self-directing

2. Self-disciplines

4, Egoist

Select the correct answer using the codes given below

PSR Ufgran BT gRom e 1 T 5 & TRl BT Ay
1. @I

2. @-fgzm

3. T SR

4. BRI

TGl IS Bl TG IR & TG IR gAY

1 and 2

18R 2

1and 4

13R4

All of the given options

g g it fewea
D 1,2and 3
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1,23R3

Correct Ans : D

Subject : Child Developement

Q.No: 125 The question given below has an Assertion (A) and a Reason (R).
2475367

Assertions (A): Alterations Deficit Hyperactivity Disorder can be treated successfully with drugs.

Reason (R): In this disorder, children can pay attention very easily

2 fau e uy F U F (A) 3R RO BRI (R) @ m E

P (A): TR SR gemRufEefad) fasiisr &1 sar garsi ¥ awaads faar o gad 8
RN (R): 39 PR I IR 7= 3T A &9F ¢ 9hdl B

Both A and R are true and R is the correct explanation of A

A IR R I YA € 3R R, A T 8! arem B

A is true, but R is not the correct explanation of A

A TE 3, AR, A $ Te ST 161 3

A is true, but R is false

AT ¥, Rg R Toa 8

A is false but R is true

AT § A R ¥ R

Correct Ans : C

Subject : Child Developement

Q.No: 126 Howard Gardner’s Theory of multiple intelligences emphasises

2476104
BIATS MER BT AT SCHOTHS BT RIS <o R A &1 3
conditioning skills in students
A
o1 g ST S
general intelligence
B
R A
common abilities required in school
C
fammmera § aimaRae oM &HAq
the unique abilities of each individual
D

TP i AR 1 oS e

Correct Ans : D

Subject : Child Developement

Q.No: 127 TT is given against
2476751

T e e femn s 3
Typhoid

CRPIRS
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B Tetanus

Retw
Tuberculosis
C
&R
Toxins
D
forwTert wanf

Correct Ans : B

Subject : Child Developement

Q.No: 128 A three months old baby cannot walk because

2476993

A TR W1 ST = TS Gepell iTh

He is not matured enough
A

Tg 7T uRus T ¥

He is not motivated enough
B

9% yaie dRke e ¥

He is not aspired enough
C

T vAiE P T @

He is not desirous enough
D

98 T oG e &

Correct Ans : A

Subject : Child Developement

Q.No: 129 Which of the following is NOT a personal factor of learning?

2477002
i % I $19 W 4w BT AfFTT FRS T 32
Motivation
A
SR
Interest
B
wf
Abilities
C
&HdT
Societal
D
qHIfSE

Correct Ans : D

Subject : Child Developement

Q.No: 130 Which of the following is true for extrinsic motivation?

2477025
1. It refers to the performance of an activity in order to attain an outcome.
2. It comes from outside of an individual.

Choose the correct code:
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eI IRom % forg Pufaiea # 9 oF w1 w72
1. 7g IR I 7 & R Tt fafafy & wesl 1 deftfa avar 1
2. I8 Tfed & TR o B

gl BIs A
Only 1
A
Fad 1
Only 2
B
Fad 2
Both 1 and 2
C
gt 1 ek 2
Neither 1 nor 2
D

a1 siRAE 2

Correct Ans : C

Subject : Child Developement

Q.No: 131 The period of 6-8 years in development of child is known as
2477088

= S 9T P 36l B 699 ¥ 899 d $ TUY F FFT S B

Early childhood

A
qd SreaR
Late childhood
B
BR Sedawil
Boyhood or girlhood
C
ASHU T TPIaRIT
None of the given options
D

Rw Ty Redt # ¥ o1 T
Correct Ans : B
Subject : Child Developement

Q.No: 132 Repeated or stereotypic behaviour is typical characteristic of which mental disorder?
2477621

TR-IR 41 WiRkdeiis @der &g amiie fAeR @1 ik fadwd g2

Mongolism
A
Bl GEICY
Hydrocephaly
B
TESRwd! (SHET A uet § Ut 317 W)
Microcephaly
C
AR (g
D Autism
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SHBTG (Snfew)

Correct Ans : D

Subject : Child Developement

Q.No: 133 Which of the following can be causes of truancy in a child?

2477724

1.Poor family conditions.
2.Inferiority complex.

Choose the correct code out of the following -

Pafefdd # 3 o1 P 7= ¥ IRelort (e 1 SR & el &2
1.9RaR 1 ' fRuf)

2.8 ya|

Frofifed # 3 ¥ %e g -

Only 1

Fad 1
Only 2

Had 2

Both 1 and 2

gH 1 ek 2
Neither 1 nor 2

ddrteiRAE 2

Correct Ans : C

Subject : Child Developement

Q.No: 134 Which of the following states/UTs became the first to have children’s courts (not to be confused with juvenile courts), i.e., facilities for the speedy trial of

2477774

crime against children in 2011?

2011 & Ffafed § 9 oF 91 I0/3% D T S 3 g ([PRIR SETadi & wrd Yid 7 81), ar g & Raas 3Ry & @id T8&0r & fae gfaen, 9 arr

TRl I S T
Delhi

fewedt

Goa

Goa

Uttar Pradesh

JW W
Puducherry

gt

Correct Ans : A

Subject : Child Developement

Q.No: 135 Which of the following statements is/are correct?

2478120
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FofifEd # § $F 9 vy 9 82
1. fawain g= & ufd At S TARIGT 3T dead i QR T THIHR0l TP W ard el o
2. THIER0N A T GHIAR P ARL XA & g TR e

el DS I

1) only
A

1) aq

2) only
B

2) Faa

Both 1) and 2)
C

A 1) &R 2)

Neither 1) nor 2)
D

qdr1) sRAE 2)

Correct Ans : C

Subject : Child Developement

Q.No: 136 Which of the following is NOT a category of academically dysfunctional children?

2478377
T & I $9 sl T F sem =t 3t o T8 32
Slow learners
A
A e Rrgmlf
Underachievers
B
B U TR HL arel =)
Average learners
C
e e
Children having special learning disabilities
D

oy drem Y ereman 9 w2

Correct Ans : C

Subject : Child Developement

Q.No: 137 A, a child of class ix, has a good mental ability. He, however, feels tremendous pressure from the huge over-expectation of his parents and finds it difficult
2478453 1o rise up to their expectation. There is every chance of his becoming @ ----=-----=====------- .

T A F D 92 Bl AFRTD &TdT St 31 gIaiies, I8 9 HIal-fiar ot s siilel | o/ a1d Heqy HRdl § AR 3®! SMUeT W TRT IaT Giwd rdl g1 9 -

---------------------- Egskikeaiktlice il
Creative Child
A
TAHS g1
Slow learner
B
fimr Rrg aren
Underachiever child
c
S I TN S el ST
D Child with learning disability
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e B Srewe aren a=T
Correct Ans : C

Subject : Child Developement

Q.No: 138 Under which layer of the Bronfenbrenner’s Ecological System does the institutions such as parent’s workplace, the neighborhood, and school board come?
2478935

SR @t UifRUfa® Jomett &1 f50 IR & ded AId1-fdl & SRR, TS SR Td a1 okl TR 317 82

Microsystem

A

TEwHIRREH

Mesosystem
B

TiREen

Exosystem
C

TRIRReH

Chronosystem
D

PR

Correct Ans : C

Subject : Child Developement

Q.No: 139 Which of the following social criterion of a family influences the child’s interaction with society?
2478994

i. Religion

ii. Caste

iii. Finances

IRAR &1 FEfIEd # & S 91 SR TS 79 & 9IS & Wiy o 3 guifed e 32
i o
ii. Std
iii. fot

Only i

Fad i
Both i and ii

i 3 i S

Both ii and iii

ii oK i T

All i, ii and iii

i, ii SR i
Correct Ans : D

Subject : Child Developement

Q.No: 140 Following Pavlov’s lead, who among the following conducted the famous experiment in the case of Little Albert?
2479228

Edd & Aga B e § 3 fees fakta seed & o # uitg van e

Lawrence Kohlberg

AR Brgaa|
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B Lev Vygotsky

A TN
Jean Piaget
C
S s
John B. Watson
D

S &t arewd
Correct Ans : D

Subject : Child Developement

Q.No: 141 Which of the following is not the correct objective of pre-school?

2479644
& 7 9 B 1 wfien- Ry o T I T ¥
To prepare children for primary school in conducive environment.
A
e faeme & R srgma araTaRe # =i Y 9OR FRAT
To enable children to develop motor skills by practicing different kinds of activities for fine motor and gross motor development.
B
= B Al Aiex iR Tpw Wex T & g Rt wer 9 1l @1 snare avd Ak Sie ReRia $7 § wam T
To help children develop social and emotional skills for healthy living.
€
T B W S F g I SiR M S e $9 § 7eg S
To encourage children to concentrate on textbooks and learn the full syllabus.
D

T P UBIGEF R HH Siod FH R T UIeusHH A & g Wienfed we

Correct Ans : D

Subject : Child Developement

Q.No: 142 Which of the following involvement is required by the teacher to help learners in emotional development?

2480089
T e % Rt 35t weg F & g fiere 1 Foafiied § 3 /5w yrfier 3 srazaea gkt ¥2
Objective
A
Eitl
Subjective
B
RIS
Both objective and subjective
C
T IR RIS GHl
Neither objective nor subjective.
D

T @ 3T 3R 7 € AFRS |

Correct Ans : C

Subject : Child Developement

Q.No: 143 Which among the following is not correct regarding emotional development during early childhood?

2480096
T ¥ IRH TaTeTs e & day § Fofifed § § oF o ad =7 82
A Emotions such as anger, fear, jealousy, curiosity and envy develop during early child hood.
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T gt W, v, S, Forman ok St SRit Wi fawRa St |

Studies prove that bright or intelligent children have less curiosity emotion than intellectually poor children.

B
ST § WY ST § 7 2R W1 93 s=it ¥ difige T § e 7= 3 gaqr ¥ o 3 9ave w9 Skt 31
Emotional development at early childhood provides a base for later emotional development.
C
T & G 5N 918 31 99 & WIS 9eTd & {17 1R TaH SR 3l
Parents, school and peers play an important role in the development of emotions.
D

T & i § -, ey ok wguet meaget Yt Ry §
Correct Ans : B

Subject : Child Developement

Q.No: 144 Choose the most appropriate option.

2480341 A. According to Gagne's differentiating model of giftedness and talent (DMGT), "Giftedness is the possession and use of untrained and spontaneously
expressed natural abilities in at least one ability domain to a degree that places an individual at least among the top 10% of age group peers".
B. According to this theory grades and test scores do not provide an accurate picture of a student's strengths and abilities.
T I faded BT 9a Sifor|
A. TR 3R URAHT F 1} F 30w Alsd (DMGT) & SRR, "SUBR HH U HH Ud &MdT H U8 § sufife $iR es = ¥ ad Uihiads emarsii &1 eRor 3iR wanT § o
TS e B $Y Y F1 M 10% g 7 F Wi & w@ar 3|
B. 39 RIS & 3UR I8 3R T TR TP TH B drhd IR eHars B 9eie 20 UeM el 3d ¢
A is true, B is false
A
ATAE, B3I R
B is true, A is false
B
BIAE, A 3T ¢l
Both A and B are true
C
A 3R B EF I B
Both A and B are false
D

A 3R B SHI o B

Correct Ans : A

Subject : Child Developement

Q.No: 145 Which of the following practice of Mrs. Sushma in her classroom shows that she is against the concept of gender-bias?
2480373

st gu @t o e & Fuffed § & SH-11 3w oXifdr § fF 98 Afe deqTd #t Ghe & v 87

Appreciating the girl's project just by appearance.

A
b ST ¥ TSP & URdie B WIS H
Asking easier questions to the girl student.
B
BET ¥ N Uy T@
Reviewing and commenting on the project work of the girls by checking it.
C
AeiHl F uREISH P BT Fid B It SR ol B
Giving less attention to the girls.
D
TSPl W HH &M I
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Correct Ans : C

Subject : Child Developement

Q.No: 146 Toy age is related to which stage?

2480629
e 3y v =Ror & WEf @2
Early childhood
A
d STeamERIT
Babyhood
B
CELLE
Late childhood
C
Y SmaRAT
All of the given options
D

g g st fawpe

Correct Ans : A

Subject : Child Developement

Q.No: 147 Child-centered education includes-

2480684
a1 S R ¥ wfde 8-
Hands on activities for kids
A
el & Ry quagie Tfofaftat
Learning in restricted environment
B
yfcrsiftre SrereR 7 S
Learning alone
C
TP ST
All of the given options
D

e Wit fowea

Correct Ans : A

Subject : Child Developement

Q.No: 148 Mobility and Orientation training is associated with

2480746
TfRfirar SiR s wikienr fead ary 91 gan 81
Students with hearing impairment
A
3o &furell A B
Students with mental retardation
B
AR Hadl Ifed s
Students with visual impairment
c
=Y gfivran ied B
D Students with learning disability
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A 9} RepaiTar 9itd o=

Correct Ans : C

Subject : Child Developement

Q.No: 149 Microsystem, Mesosystem, Exosystem, Macrosystem and Chronosystem are parts of the theory propounded by:

2482177
Feyome, TeAwoeR, Sfoneh, Jeayvm SR Fe vomeh frud w1 v Rigia & um E:
Maslow
A
A
Vygotsky
B
Slicwh!
Bronfenbrenner
(o
EIEEEERN
Piaget
D
st

Correct Ans : C

Subject : Child Developement

Q.No: 150 Which among the following is not the purpose of developmental tasks?

2482214
T A PH-I1 AR Tl 31 W T8 82
They act as guidelines to help parents and teachers to know what children should learn at a given age
A
F wre-frer SR ST Y U A F HeTd 4d § & [ oy Rty H s o) oo Wi =ity
Developmental tasks serve as motivating forces for children to learn what the social group expects them to learn at that age
B
Rrrars $ 3= Bt 3 i WRen F RiY IR 70 w9 H o1 B4 § S TEiie 90 S 89 oy Wies # olen Y@ §
Developmental tasks tell parents and teachers what will be expected of children in the immediate and remote future
C
s H1f Orar-fd Td sreae! 3 91 § 5 Fee v IR ufesr # st S @ orden SR
Developmental task increases the intelligence of children
D

RemEs o s=i ot gfgam & o oxa §
Correct Ans : D

Subject : Child Developement
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